sin^2(a)+cos^2(a)=1;                     |Sin Cos Tg
tg(a)=sin(a)/cos(a);                     |++  -+  -+
tg(a)ctg(a)=1;                           |--  -+  +-
1+tg^2(a)=1/cos^2(a);                    |
1+ctg^2(a)=1/sin^2(a);                   |sin(p/2+-a)=cos(a);
                                         |sin(p+-a)=-+sin(a);
sin(a+b)=sin(a)cos(b)+cos(a)sin(b);      |sin(3p/2+-a)=-cos(a);
sin(a-b)=sin(a)cos(b)-cos(a)sin(b);      |sin(2p+-a)=+-sin(a);
cos(a+b)=cos(a)cos(b)-sin(a)sin(b);      |
cos(a-b)=cos(a)cos(b)+sin(a)sin(b);      |cos(p/2+-a)=+-sin(a);
tg(a+b)=tg(a)+tg(b)/1-tg(a)tg(b);        |cos(p+-a)=-cos(a);
tg(a-b)=tg(a)-tg(b)/1-tg(a)tg(b);        |cos(3p/2+-a)=+-sin(a);
ctg(a+b)=ctg(a)ctg(b)-1/ctg(a)+ctg(b);   |cos(2p+-a)=cos(a);
ctg(a-b)=ctg(a)ctg(b)+1/ctg(b)-ctg(a);   |
                                         |tg(p/2+-a)=-+ctg(a)
sin(2a)=2sin(a)cos(a);                   |tg(p+-a)=+-tg(a)
cos(2a)=cos^2(a)-sin^2(b)=1-2sin^2(a);   |tg(3p/2+-a)=-+ctg(a)
tg(2a)=2tg(a)/1-tg^2(a);                 |tg(2p+-a)=+-tg(a)
ctg(2a)=ctg^2(a)-1/2ctg(a);              |
sin(3a)=3sin(a)-4sin^3(a);               |ctg(p/2+-a)=-+tg(a)
tg(3a)=3tg(a)-tg^3(a)/1-3tg^2(a);        |ctg(p+-a)=+-ctg(a)
ctg(3a)=3ctg(a)-ctg^3(a)/1-3ctg^2(a);    |ctg(3p/2+-a)=-+tg(a)
                                         |ctg(2p+-a)=+-ctg(a)
sin^2(a/2)=1-cos(a)/2;                   |
cos^2(a/2)=1+cos(a)/2;                   |
tg^2(a/2)=1-cos(a)/1+cos(a);             |
ctg^2(a/2)=1+cos(a)/1-cos(a);            |
tg(a/2)=sin(a)/1+cos(a)=1-cos(a)/sin(a); |
ctg(a/2)=sin(a)/1-cos(a)=1+cos(a)/sin(a);|
                                         |
sin(a)+sin(b)=2sin(a+b/2)cos(a-b/2);     |
sin(a)-sin(b)=2sin(a-b/2)cos(a+b/2);     |
cos(a)+cos(b)=2cos(a+b/2)cos(a-b/2);     |
cos(a)-cos(b)=-2cos(a+b/2)cos(a-b/2)=    |
=2cos(a+b/2)cos(b-a/2);                  |
cos(a)+sin(b)=sqrt(2)cos(45-a);          |
cos(a)-sin(b)=sqrt(2)sin(45-a);          |
tg(a)+tg(b)=sin(a+b)/cos(a)cos(b);       |
tg(a)-tg(b)=sin(a-b)/cos(a)cos(b);       |
ctg(a)+ctg(b)=sin(a+b)/sin(a)sin(b);     |
ctg(a)-ctg(b)=sin(b-a)/sin(a)sin(b);     |
tg(a)+ctg(b)=cos(a-b)/cos(a)sin(b);      |
tg(a)-ctg(b)=-cos(a+b)/cos(a)sin(b);     |
tg(a)+ctg(a)=2/sin(2a);                  |
tg(a)-ctg(a)=-2ctg(2a);                  |
                                         |
sin(a)sin(b)=1/2(cos(a-b)-cos(a+b));     |
cos(a)cos(b)=1/2(cos(a+b)+cos(a-b));     |
sin(a)cos(b)=1/2(sin(a+b)+sin(a-b));     |
                                         |
sin(a)=2tg(a/2)/1+tg^2(a/2);             |
cos(a)=1-tg^2(a/2)/1+tg^2(a/2);          |
tg(a)=2tg(a/2)/1-tg^2(a/2);              |
[bookmark: _GoBack]ctg(a)=1-tg^2(a/2)/2tg(a/2);             |
